1. WA H{[22 wilal cumy’ siey S0 quly 6

(A) ~SI1d14 (B) AL 51512
(C) =(He2ua [2al2uy - () slad-2m Gradl
2. 4, Houd, M dau A 515 Haasai el 9 - .
(A) 2l (B) 424l ayaid |
(€) w2el ueyt (D) ylAdlacam
3. HRRAO L gl Yaes sl avld 6 ?
(A) 522 Y2dls2 (B) »dzie daugll
(C—) £4ls (D) 5151 SNAAS2
4. stel ‘Yusq’ Guaunedl il w4 2 6 7
(A) 2t (4. wss (B) "24RAIA U sl
(€) “udleis? el (D) Reiarterd geiR
5. A2’ sreuusiz Aol sRdamd Ad-unidl san a%s wam avid Gawl ?
(A) 2. (A wes (B) A 5. 51512
(C) =1l (D) HMHIER
6. ‘Gearzt’ Al 2[R wisl.
(A) Gd + cuy (B) Ge + c -
(C) G: + Air (D) B4 + A
7. AAuid] 56 Asell widl &9 ?
(A) 3yl (B) 44U
(C) S5z (D) R
8. 28 sl : wld + Gled
(A) weyd (B) Aey'd
(C) 2idltd (D) uidltd
9. ‘90 529 A YD A[Q ddl A2’ W2 dlPY AEUYS 2Ll -*
(A) Gruyn (B) | (55cleuya
(C) 2wl (D) WEYd
10. sl wslA 4ag’ 3Enalarl e ),
(A) Y §14EL 1Al (B) Hryeddl w wsdl ™
(C) Syl ud) (D) d21aq Z;'"

. < M. . M. ~ M
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1. ‘iwn' sul AN 19 Y

(A) AU AN > (B) Goti AMIA f
() dl[ﬁ'u(;n:: Ry @ eivltuaa AU |
12. Ul 33121 5::}333’ Csﬁ Bﬁrﬂ C\I’I% c\t’lﬁ‘itlﬁdui sl 195 quIde ¢9 7
(A) g (26154 15 ¢ () Wik e 2\
(C) M6 195 3 \ (D) addldas 9% |y
13, gl a0 st ol 53 7 s sl
(A) UM% )‘ (B) Gua
(C) *4u b () Gelaut
14 A 20l wosiuidl sul wos veA W B ?
(A) WsY (B) A2l
(C) & (D) siléel
15. e i 56 e g usifEid g © ?
(A) ArUA Al 25 (B) %ud ey ulRus -
(C) vil&ads su Aeu (D) SHIR U511
16. Select the word with same meaning - synonyms : “Terminate”.— (&(ﬁl\
(A) Suspend (B) Dismiss °
(C) End (D) Interrupt
17. Select the word with similar meaning - synonyms : “Bash”
(A) Strike (B) Neglect
(Cllgnore (D) Embrace
18. Select the word opposite in meaning : “Innocent”.
(A) Sinful (B) Guilty
(C) Deadly | (D) Corruption
19. Select the word opposite in meaning : “Scold”*
(A) Enamour (B) Rebuke
Q’Cﬁlicisc (D) Praise
20. Select the word for group of words - one word substitution : “Relationship by blood™
(A) Parentage (B) Affiliation
(C) Consanguinity _52) Nepotism
21. One word substitution : “A person who kills somebody especially for political reason™
(A) Criminal (B) Murderer
(?; ASSAssin (D) Hangman

PR Y . . PG, . —
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22. The accused  to the Judge for merey.

(A) nsked (13) npphied
(?) demanded (D) nppenled
23. Cholestrol has long been identified ns a silent killer beenuse the patient has no ~of the
danger freely - his system,
(A) imformation, invading (13) iden, infecting
-(.:) through, attacking (D)) notion, ravishing
24, The waiter took the plates after we had finished eating.
(A)up / (B) off f
(C) away (D) out f
25. She has not recovered fully the shock,
(A) against (B) of
-
(C) from (D) off
26. Give meaning of “To take umbrage”
(A) To feel depressed (B) To be off ended p
(a}o be satisfied (D) To be pleased Y
41 Give meaning of “To set the people by ears”
(A) To box the people (B) To insult and disgrace the people
(C) To punish heavily (D) To excite people to a quarrel
28. ;i:d correct spelling.
(A) Comentry (B) Commentary
(C) Commentry (D) Commentery
29. ;i:d correct spelling,
(A) Distillery Ll?_)__ Distilry
(C) Distillry (D) Distilery
30. Find correct spelling,
(A) Acurrate (B) Accurate
(C) Acurate (D) Accurratte
31 Give name of 14" Vice President of India ?
(A) Jagdeep Dhankhar (B3) M. Venkaiah Naidu
(C) Om Birla rl;; Mohammad Hamid Ansari
31, odrd-t 14 Wi Guznguldd um sl
(A) WAL YR (B) #AM, dhut ug
(C) wUu (e (D) Mle3E wilHe vi-2udl
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34.

3.

3.

Which country recently organised 19" Asinn Games ?

(A) Indonesia (B) South Korea
-_
(C) Malavsin (D) China

AR A almadd 190 aA(us S sut ot grel 2ndlld s2ansi »2udd 7
(A) O-siH Sl (B) &l sz
(C) w4l (D) Al

CRISPR - Cas 9 term sometimes seen in the news is associated with

(A) Artificial Intelligence (B) Cryptocurrency

(C) Genome Editing (D) Particle Physics
‘CRISPR-Cas 9" 25% % 50135 AHARM] A il 6 d 2 2ud 2qsuda 9 7
(A) s34 oylaum (B) (52l aqel !

(::—) Wiy w32 - (D) selly efildsaz= £

Abhinav Bindra won first ever individual gold medal in Olympics Games for India. In which
olympic games he won the medal ?

(A) Beijing, 2008 (B) London, 2012
.’-—-—
(C) Athens, 2004 (D) Rio, 2016

2341 [Gimst d 5914 dd vil[aFRsHI dles Ay ANa412 wan sldly 8. Al 6 vualEys 2343
Hsd HUAY edl ?

(A) a5, 2008 (B) ds, 2012

(C) la-, 2004 (D) Bul, 2016

Which country’s cricket team defeated by India’s cricket team in finals of Asia cup organised in
September, 2023 ?

(A) Pakistan (B) Bangladesh

(C) Sri Lanka 6) Afghanistan

U232, 202341 dladd HAlAusy s11ami suadl iz A sw 2adl 322 Aud aud) ?
(A) wl5z (B) sie23l

(C) Ald st (D) AU (A1

Disqualification of a Loksabha member on the ground of defection is primarly decided by whom *
(A) Chiel Justice of Supreme Court (B) Election Commission

(C) Speaker of Loksabha (D) President

dlsaou- qodqd wauazid dil wdloudt walig A4 s g 158 s »ud © 7

(A) #ellay tErdd-u Yoo ~diuyld (B) Yeullda

(C) dlsuoun vty (D) guld

——
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37. Which dynasty built Brihadeeswara temple in ‘Thanjavur ?
(A) Ganga dynasty (13) Chola dynasty
(C) Chalukya dynasty (D) Rashiraknt dynnsiy

37, SUL AW G et M MIBR uimgR otaar i vidy !

(A) 20 98 f (13) 4le 491
(C) Y s qa :;; A 42 44
38. USB is acronym for
(A) Uniform Service Broadeasting (13) Universal Service Bus
(C) Uniform Solution Bus mlnis*cmal Service Broadeasting

3. USBHU{IsaRe?

(A) 451 wldu wlsslzex p (B) ylauy ulax s

(C) Y51 Aleygu i y (D) 4Razla ulda alssilzea
39. Who established Maitrak dynasty in Vallabhi, Gujarat ?

(A) Bhattarak (B) Yagnavarman

B—Ehruvascn (D) Pushpbhuti

39, rd-u acacui S Aas duddl 2 520 7

(A) M215 (B) 419¥

(C) 943 (D) Ywuoqld

As per recent Elephant census, which of the following state was highest Elephant population ?
(A) Karnataka (B) Assam

(C) Kerala (D) Tamil Nadu

0. apdzd el aud 2ol yoror Ad-unidl sw asuul gl ddl ay adl o ?

(A) 5@zt (B) AN

-

(C) 524 (D) ey .
41. Which of the following wetland of Gujarat is included in Ramsar site ?

(A) Nal Sarovar (B) Wadhwana Lake

(C) Khijadia Bird Sanctuary (D) All of the above
o, Adusidl opradd 6 sudogfi d anar wdeui wla O ?

(A) 14 “zlaz (B) 241 dvua

() vlog(3an vl Ao (D) BN AWM

—_—__—-__——'—_
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42. Budapest Convention is related to which field ?
(A) Nuclear Energy (B) Women Empowerment

(C) Climate Change (D) Cyber Securnity

2. opslaz s=auA sl A 0l Aelld o ?

(A) 4544z Gl (B) 24l walsasam
(.:) AL M2 Y-y (D) A2 Y2
43. Relationship between Indian Standard Time (IST) and Coordinated Universal Time (LT() ¢q
be best described as
(A) IST=UTC +05:30 (B) IST = UTC - 05:30
(CO)IST =UTC +05:00 (D) IST = UTC -05:00

43, atzdlu [ud 1xa (IST) 2 dBs sTEAZS AMd (UTC) 928l 204 5% dd 44D a5 9.

(A)IST = UTC +05:30 (B) IST = UTC —05:30

(C) IST = UTC +05:00 (D) IST = UTC —-05:00
4. Which Greek general was defeated by Chandragupta Maurya ?

(A) Seleucus (B) Alexander

(C) Megasthenes (D) Darius
44. e W su Als Apusdid el edl ?

(A) Ay s: (B) 2d5ni42

?E) TR EUT 3 (D) Eux ’o

45. ‘Keshvananda Bharti case Judgement’ based on which Supreme Court establised basic structure
doctrine happened in which year ?

(A) 1971 (B) 1972
(C) 1973 (D) 1975
45,  ‘Buarie surdl By sel’ Fu v adla veiad ynogd vl Rikic sulda d san i s
wad ?
(A) 1971 (B) 1972
(‘E) 1973 (D) 197§
46. Who is India’s current Chief of Defence Staff ?
(A) General Bipin Rawat (B) General Anil Chauhan
(C) Admiral R Hari Kumar (D) Chief Marshal Vivek Ram Chaudhari
46. A wewnzeu s wis (154 2218 sl ) ?
(:l w124 (Gl 2uqq (B) ¥12d Ay Aax P
(C) #sHe 202 w2 gz (D) As zle [Qdsuy A4

TN V3. . . Ay ., . <. A
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47.

Which launch vehicle launched Chandrayan-3 ?

(A) PSLV-CII (B) GLA40
(C)GSLVMK HHIM 1 (D) LVM3 M4
47. sUl Qi adlse Glat A-sut-3 ol senui wide ¥ o
(A) PSLV-CHI (B) GLAO
(C)GSLYMK HHIM ] (D) LVM3 M4
48. Arrange the following Gujarat’s Kings in chronological ascending order.
I. Mohd. Begda
2. Kumarpal Solanki
3. Ahmadshah Badshah-1
4. Siddharaj Solanki
(A)4-2-3-1 B)2-4-3-1
(C)4-2-1-3 D)2-4-1-3
48.  AwAd-u UL AU dH-U S1N5H A6 Adedl SHUL L5l
1. HISIHE 6181
2. SMRWLYL AlE S
3. GdHEUE G{lEIE-]
4. [Bgur Aldil
(A)4-2-3-1 (B)2-4-3-1
(C)4-2-1-3 _@_2-4-1-3
49. Which fundamental right has abolished untouchability ?
(A) Article 15 (B) Article 16
(C) Article 17 (D) Article 18
49. 5L NG 5 GIRL 2AYUAL UGLE SAUHT 204l S ?
(A) A% 15 (B) A4 A€ 16
(C) ¥4 %9% 17 S_L)L?:lj%@li 18
50. Which Saint give philosophy of ‘Dwaitadwait' ?
(A) Shankaracharya (B) Madhavacharya
(C) Ramanujacharya (D) Nimbarkacharya
50. sl det Gl “Beled’’ dragi BUNAHi 20y ?
(A) gisd (B) Hiqauy
(C) Mg (D) Raousiy
-
MDMPHW -2023-A | 9 P.T.O.
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(A) IDTSNAEC (B) IDTSNACE

IF*HANDLE" is coded as “AHDNEL" then how “DISTANCE" is coded 4

(A) IDTSNAEC (B) IDTSNACE
(C) IDTSANEC (D) DISTANCE.

o L ~ > » ?
R CHANDLE® 4 2345 AA “ANDNEL" adl% cvid dl “DISTANCE” A £d] Ild “via

(C) IDTSANEC (D) DISTANCE
Find the word that does not belong to group of other three words.
(A) Iron (B) Mercury

(C) Silver (D) Gold

By AR [Aseuli o Wl AR 1 $lu dal 20e 2k,

(A) @lvis @ wRl

(C) el () ¥l

Find out the value at question mark

38% of 818 - ? % of 636 = 158.2

e ——

(A) 12 (B) 36
(C) 24 (D) 48
wse Crg -l owat 4 (Bud vuasl ?
38% of 818 — 2 % of 636 = 158.2
(A) 12 (B) 36
(C) 24 (D) 48

Average age of a man and his son is 44 years. The ratio of their age is 31:13 respectively. What is
the son’s age ” ~

(A) 35 Years (B) 15 Years l

(C) 20 Years (D) 26 Years

a5 W 2 d YAl 222 GHR 44 ad 8. Rt 214 Yadl viqs3l G-l Jeilv 31:13 89, yadl
Gua s2dl etl ?

(A) 35 ad (B) 15 @\

(C) 20 ad (D) 26 ay

m
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55, Read statement
Select appropriate option as conclusion.

Statement : Most of the politicians are lnres, Harish tells lies.

(A) Harish is a Politicinn () Thos who danot tell lies are not Politicians.

(C) Some politicians do not tell lies, (1) You can only benefit by telling lies,
58, [Qwi atal :
Al (e [aseainiddl alay [Asey yais 430,

(Qu = Mzt sl gzt vla 9, wlZa og vid 9.

(A) ¢Ra sl 8. (B) B %4 vlladt 44l dil 2% 5124l -dl.
@ szas Ay sell g ladl . (D) d %z el % e wadl ust L.
56. Based on Statement & Assumption select correct iption :

Statement : Everybody loves reading adventure stories.

5 g 4_0 é’ Assumption : (1) Adventure stories are the only reading matcrial

(2) Nobody loves reading any other material

E’ (3) All are literate

(A) None is implicit (B) Only one and two are implicit
(C) All are implicit (D) Only two and three are implicit
6. 5w vigadl 2udl dloy [Rsed vaie 53,

sa- : £35 eulBn AeFs Audizil aiaad wd ©.

s : (1) AsBts il §5d aiut 26l 6.
2) siSuat uled olleo sl asll aiuard 29l dl / wie s 4l

(3) oL o [ufda 8.

(A) (1), (2), (3) 224 (G ¥l (B) §5d (1) 241 (2) A 9.

(C) AL % (1), (2) ¥ (3) AU B, (D) §5d (2) 24 (3) AR 8.
57.  Find out H.C.M. of 360, 108 and 252

(A) 36 (B) 72

(C) 116 (D) 54
§7. 360, 108 ¥ 252 -l 9.1, Wk,

(A) 36 (3) 72

(C) 116 (D) 54

-——_—————_—_—___—__\
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59.

61.

6l.

Seven bells ring at intervals of 2 minute, 3 minute, 4 minute, 6 minute, 8 minute, Y minute and 12
minute respectively. They started ringing simultancously at 5.00 a.m. What will be the next time
when they all ring simultancously.,

(A) 7.11 a.m. (B) 6.12 a.m,
(C) 6.10 a.m. (D) 813 a.m,

Al 132l w88 2 (MlAe, 3 [lAz, 4 MRz, 6 Mz, 8 [lA2, 9 Bz i 12 Bz 22 a8,
ol 28l A2 5:00 a.m. Al AsA dlan] A3 54 dd. ¢ 53] Quid 502 A58 HH 42y
el ?

(A) 7.11 a.m. (B) 6.12 a.m.
(C) 6.10 a.m. (D) S.13 a.m.
Complete the series by appropriate number at (?) mark.
2,9,28,65, 126, ?

(A) 195 (B) 199

(C) 208 (D) 217
w2 Al ouiA uloy v 34l Aell ydl s

2,9,28, 65,126, ?_
(A) 195 (B) 199
(C) 208 (D) 217

One company sells one product at a profit of 20% and another at a loss of 20% at the same
selling price. What is the loss incurred by the company ?

(A) 1% (B) 2%
(C) 4% (D) No loss

s Su-dl As GAUs A 20% 51 0 A o1 20% 51 e A5 uvll dawe Fud 43 9. dl Sy
s2¢ 45247

(A) 1% (B) 2%
(C) 4% (D) 516 A4su1 dl.

If third Monday of a particular month comes on 17th date then, in the same month which day
will come five times 7

(A) Friday (B) Suturday

(C) Wednesday (D) Thursday

A 516 uEau Aloa Al 174 AW eld dl 2 o M@ DA-unidl sul Rau wia @i 2uad ?
(A) Ysu (B) alRauz

(C) 4HaR (D) 321

MDMPHW - 2023 - A | 12 [Contd.
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62. Select proper word which is related to the pair given.

Cup : Saucer :: Knife: ?

(A) Fork @ Tray
(C) Kitchen () Vegetable
62. A Al A0ilfd elu dan 208 24,
swzsoll iy 2
(A) sicl (B) & ()
(C) 2§ (D) 2UEML2D
63. A girl introduced a boy as the son of the daughter of the father of her uncle. The boy is girl’s
- é L (A) Brother (B) Son
? (C) Uncle (D) Nephew

63. A5 5153 915 151530 vl 2idl Ad 2l B % w0 oisA dell- sistt Qe Elsdll 2ls2 9. dl
91521 91530l .......... Y.

(A) GUS (B) 4=
(C) 5151 (D) MAlA

64. Rajan is sixth from the left end and Vinay is tenth from the right end in a row of boys. If there
are eight boys between Rajan & Vinay, how many boys are in row ?

(A)23 (B) 25

(C) 26 (D) 24

64, L5zl arSni 2o ston 93 68 A (A rmsu Sl el 8. A A% A (A1 a3 28
sl dlu dl crSui 5o Jza slsil o2l ?

(A) 23 (B) 25
(C) 26 (D) 24

65. In how many different ways can the letters of word *LEADING” be arranged in such a way that
the vowels always come together ?

(A) 360 (B) 480
(C) 720 (D) 980
65.  ‘LEADING® 2o6t 248311 32l %2l Ad atlsdl 2ty & Fell 2a3l dAan As wd wud ?
(A) 360 (B) 480
(C) 720 (D) 980

e\ A————\ SRR A
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00. If 2 person facing townrds East, the shadow will be towards -

(A) his right (B) his back
(C) his left (D) his front
66. R 1S el ud 428 A 260l dl A=l el ...
(A) dll el ougg wsal, (B) Al wuegen-l suzgt wsal.
(C) d-l s16ll uagad usal, (D) d-Al 23 wsal.
67. Based on statement and conclusion select appropriate option :

Statement : - Some mobiles are pagers.
- No mobile is a laplop

Conclusions : I - No laptop is pager.
I1 - Some pagers are definitely not mobiles

(A) Only I follows @) Only 11 follows
(C) Neither I nor Il follows (D) Both I and 11 follows

67. s i [Fese 203 qioy [[Asey yaie sal.

59 : — $26L5 HIBUOE UYR 9.
— 518 Woeudd duzly -4l

Frs: 1 — 510 dueiy 4w =dl.-

1 — %2a1s U wlsuuel senda +9l.

(A) 55 T 9443 B, @ §5e 11 2423 B.

(C) 12444l I SISURL AUl el (D) T2 11 6id 24 U3 6.

(A)3 B 6

(€)9 (D) 12

|
2 \2
68. The value of [2163} = 7

2

l
2
68. The value of [2163J Al (33d -7

(A)3 (B) 6
(C)9 (D) 12

A . =
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69. Find the digit at the face OPposite
B’

(A) ]

(C)S

(o the faee having 6 in the given dice.

[0}

(D)lTorld

69. AL MIRUHLWUL 6 vt B Al Al () syl 54l vis vuadt ?

é’ﬂ
(A) 1 (B) 3
()5S (D) 1 2241 3
70. Which of the following english small letter have similar mirror image ?
(A)p (B)q S-
(O)t (D) v }

70.  Dd-usid s 2ideo - 23 (o0 AelAd) e vdlausi uldbion 1y 7 wuadl ?

(A)p
(O)t

71. Find the missing letter at ? mark.
P,
B
(A) U

)T
T ysefigddl gou vzl AR 4sl.

<D
B

(A) U

OT

(B) V

ﬁx

(B)V
(D)X

MDMPHW -2023-A}
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12, Which of the following will come in place of the question mark ?
XVU, WUT, VTS, USR, _7_

(A) TSQ (B) SQP
(C) TVW (D) TRQ

72. siesiolz Aellui usAlAg -l womd g 2uagl ?

AW XVU, WUT, VTS, USR, _2_
(A) TSQ (B) SQP

V (C) TVW (D) TRQ
73. If 2 is substracted from the middle digit of cach of the given numbers, how many numbers thus
formed will be divisible by 3 7

473 169 825 692 538
(A) One (B) Two
(C) Three (D) Four

73. Bidl v dl €35 Avqll 9231 2isHE 2 olle sUH] 20d dl ]l st dl 4 Huaiiui] 22d) v
3 qd euall sl ?

473 169 825 692 538
(A) 25 (B) &

(C) A8l (D) 4R

74. How many independent words can *HEARTLESS” be divided in to without changing the order
of the letters and using each letter only once ?

(A)3 | (B) 2
(C) 4 l { ' (D) §
74.  *HEARTLESS' 2664l A8l $3 el (R vid 635 A2 $5d A5 o A2 Guala s394 524l
2ad = 2wl oiudl sy ?
(A)3 (B) 2
(€) 4 ' (D)5
75. Chose the best and most necessary alternative :

A Hospital should never have

e

(A) Medicine (B) Doctor

(C) Dirt (D) Nurse
75.  @ldl G w vy o %39 [y yaie 53],

allzuani sl .......... 1 6lg A,

(A) euil (B) $is2%

(C) Y0 (D) W335
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76. Who proved that cholera is being transmitted by polluted water ?

(A) Dr. John Snow
(C) Dr. William Budd

(") Dr. Louis Pastewr

(D) Dr. Robert Koch

76. 59 lGd 54 3 sida ugd dar-u wslldl 5614 69 7

(A) SL. WSl 2+l
(C) si. [Al&uy o
_—

(B) i, 4 u w2y
(D) 4L 22 sl

77. For how much population there is one P.H.C, in tribal & hilly area ?
(A) 3,000 (B) 5,000
Q 20,000 (D) 30,000
77.  sulRarRll 1A {0 Rziui 2dl azdlal 218 albis 20310y 3¢ (YLan.l.) sttaasi 2ud © 7
(A) 3,000 (B) 5,000
(C) 20,000 (D) 30,000
78. Which worm is mainly responsible for Anacmia ?
(A) Thread Worm (B) Ancylostoma Duodenale (Hook Worm)
E)_ Tape Worm (D) None of the above
78. dldlHl Sls (lAdla) w2 youd sy s runer 8 7
(A) YA 52 (B) &5 Al (»iga 5[3)
(C) 2w ald (ufl 5(3) (D) 2l caida e T4 s we €l

79. Which disease is not transmitted by Aedes Aegypti Mosquito ?

(A) Dengue
(C) Japanese Encephalitis
79.  2ABu Saondl w9l sul A2 sendl 4l ?

(A) 3~y
(C) -l ARsailu

(B) Chiken Gunia
(D) Yellow Fever

(B) Gig 3[R
(D) [ a2 (a4l §l4R)

80, Which microorganism does not produce spores ?

(A) Clostridium Tetani

(B) Clostridium Welchi (Perferingen)
(C) Salmonella Typhi

(D) Bacillus Cereus

8. 5] yeweoaig] Rl (ol Gt~ 53 el ?
(A) scl2dl flun 2124 (442 Gt SR DAy

(B) szl flun Al (w81-%)

(C) eilAa 21sl
(D) sl Al

w————-——
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81. Which vaceine should not be given to an infant of § months old ?

(A) Pentavalent Vacceine (B) BCG Vaccine

(C) Oral Polio Vaccine (D) Mensles & Rubella Vaccine

81, 53l Guasn sunsd 56 230l (dselln) pundl Ad A Ald ?

(A) d-21dg-2 45l (13) ol 21,2, -l 23
(C) #iRd ull@ul 451+ (D) 12l 24 30al 45l
82. How much bleaching powder of good quality is required for disinfection of 1000 litre water ?
(A) 2 gram (B) 4 gram
(C) 3 gram (D) 2.5 gram

82. 1000 (@22 weld ya s2au 32 dl et awil szl [6adlo was: A ?

(i) 2 AN (B) 4 24
(C)3 AH (D) 2.5 A4
83. Which endocrine gland produces Insulin Hormone ?
(A) Pancreas Gland (B) Pituitary Gland
(C) Thyroid Gland (D) Adrenal Gland
83. 50 id:adl AR Syl& M Geu1 53 B ?
(:.l g s (U-$lu) 2@ (B) M2y24) (2
(C) U Al (D) 2[84g55 (+Af14) 2R
34. What are the components of communication ?
(A) Sender 88- (B) Message
(C) Receiver 3 S" ""—c’ (D) All of above
84. Ade 4235l 5419 ? C/
(A) 22l HlsaR (B) ¥zl
(C) ALl Uid 4312 (D) Gulsd dxun
8S. Which drug is given in addition to Arlesunau::: 2" day of Artesunate combination Therapy
(ACT) for the treatment of Falciparum Malaria ?
(A) Chloroquine (B) Primaquinc
(C) Sulfadoxine + Pyrimethamine (D) Quinine

85.  sifluzy daduwll 2udlye sliofldaq dadl (Guaz) (AcT)xi sl Rad 2udlydz Gurid 56
el tMUH] 2ud 89 7

(A) sdlalsdl (B) Basdl
(C) aesislall4 + wuddad+ (D) Gl

WA, | . \ \. A ———
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86.

87.

Whic!l wil! be an ABER of a subcentre whose population is 6000 and 900 Blood smears were
examined in a year for Malarvia from its aren ?

(A) 1.5 (B) 15
(C) 30 (D) 150

w3 A2 axdl 6000 Al B, a ealiiuit d-u [Qzdizaizl AAAU 2 900 dldlu 1¥4-uq wlan
qdd 8 dl 20 AHA-22 2042 (ABER) b2al ?

(A) 1.5 (B) 15

(C) 30 (D) 150

Which disease is caused by continuous exposure to very small particles of Coal ?
(A) Bysinosis (B) Begasosis

(C) Anthracosis (D) Silicosis

SlEALU YRS A ASH il 53l Ao an S ?
(A) B0l S~ (B) Aouaillly Do)
(C) w-astlln v (D) Rdlsizlla o

In Dengue Fever which blood cells when decreased in very huge numbers can produce severe
complications and sometime death also ?

(A) Platelets (B) RBC
(C) WBC (D) None of above

3oy drqt] 9+ cldl-u s e atuR el adl gl Aol wdladl (shudidan) as ud 6 wiA
5135 Yy e ad b &7

(A) 22 sell (\ded2) (B) et sull

(C) A sl (D) Ad] eaidd A T A5 wat +d)

Which disease is not transmitied from Pregnant Mother to foetus through Placenta ? (Vertical
Transmission)

(A) Toxoplasmosis (B) Rubella

(C) Syphilis (D) Hepatitis A

l2’ (Qaet) Wsd aotdl Huidl aod2e (gl sul A0 wadl (Feudl) A4l ? (G wauzs)

(A) 2laliensldln (B) 3a

(C) Rl D) M2 sl (L sual)

m——
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On which committee's recommendation, Government of India launched Multipurpose Health
Worker (MPHW) scheme ?

(A) Bhore Committee (B) Kartar Singh Committee

——

(C) Shrivastay Committee (D) Krishnan Committee

90. 56 sHIAHl Meumel- 2D tud w2513 [Alauarl 2usiou sils2-4l o (MPHW scheme) n3

53l ?
(A) iR 5314l (B) 5212 [ 5412
(C) dlaizda 51141 (D) 5Ma1-1 531 2]
91. How many Kilo Calorie will you get from 1 gram of Ca rbohydrate ? O>
(A) $ K Cal (B) 4 K Cal A
S —
(C) 6 K Cal (D) 10 K Cal -~ "‘ i
oA
91. w5 W selers3zuidl 32dl (el 3649) (K Cal) 4l ? pL -\
M\
A
(A) 8 K Cal (B) 4 K Cal 9\“‘
(C) 6 K Cal (D) 10 K Cal
92. What should be the daily protein requirement of an adult male weighing 68 kg ?
(A) 34 Gram (5'2‘ -— gé (B) 68 Gram
(C) 102 Gram .P( (D) 75 Gram
92. 68 [Zaluy a% qAadl Yoo qu-it Y3u-ll WA BlAs o3dad 224) ?
(A) 34 AH (B) 68 ALY
(C) 102 A (D) 75 WX
93. A Pregnant mother has taken two doses of Tetanus Toxoid in her previous delivery and she
became Pregnant again after one year. How many doses of Tetanus Toxoid Vaccine will you
give 7
(A) Not a single does is required (B) Two doses
(C) One dose (D) None of above

93. s waml wed 4z RAD 2800 A Sl el 6. 3ls @ weh) A s Al ool 4 B AL UM ML
g2 (2l 23fl-u 22eu 1o 2uya 289 7

(A) ¥ uet Sl o 3dluie el (B) ol Sl

(C) s Sl (D) 2l cauldd 2@ Uh 25 we 4]
——__—_\
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04. Which drug is not used in Paucy Bacillary (IPB) type of Leprosy ?

(A) Rifampicine (B) Dapsonc
(C) Clofazimine (D) None of above
ot WAl AANA (PB - e argy Hadn - ofl+ Al usiz 25elindl 0zazmi 695 2a wudl o) 7
(A) (351301314 (B) Sl
(C) 5ASAHS (D) 2l caide 20 U4 25 w44
95, Koplik’s spot is very important for diagnosis of which discase caused by Virus.
(A) Measles (B) Chickenpox
(C) Smallpox (D) None of above
95. (g (u)dl ad san e [Reai studls 2uiz (aedfl-oqn 3o as3L) 20904l Su oy o 7
(A) 2l (B) 24890181
(C) 1o () 2] cafdq A2 A4 2As ua 14
96. When India reported its last case of Polio ?
(A) 13-01-2011 (B) 13-01-2012
(C) 27-03-2013 (D) 27-03-2014
96.  GuAHI oun asal (Wl&ul)-l Heal 53 52 312 aul (s 53 - Alual) ?
(A) 13-01-2011 (B) 13-01-2012
(C) 27-03-2013 (D) 27-03-2014
97. For distribution of clean water on small scale which type of pipe is suitable ?
(A) Light steel (M.S.) Pipe (B) R.C.C. or Prestressed Pipe
@Polyvinyl Chloride Pipe (D) Asbestos Cement Pipe

97.  zax9 well w2l -l [[Adet caqzanni sut usizAl wdy uidu ¢ ?

(A) énd] ¥4 (M.S.) Wou (B) 2.4l vaa (g2 wdvy
) WdlRusa sdlass (NLd.l.) wdu (D) viol2iat [Fi-2 Wiy o
98. What is used in vermicomposting method of disposal of solid waste ?
(A) Earth worms (B) Cockroaches
(D) None of above

(C) Chemical Fertilizer
9.  uq suar-u Fstad adl seadlo valdul sl Guula a6 7
(B) 46l

(A) vl
(D) 2] saldd A2 WAL ¥s o 4l

(C) AulBs widR

f*_
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99.

100.

100.

What are the effects of Global warming ?
(A) Hotter temperature of earth (B) More severe storm

(C) More health risk (D) All of the above

delond allHadl A3 8 © 7
(A) yedl-l AWl U219 dluHIA 984 @.»/ (B) 2i6{l2 dlgi-l atal 69,

(C) U AvH 98 69, (D) BURs5d dHIH

Which type of latrine is used for short duration of fare & festival

(A) Shallow trench Latrine (B) Deep trench Latrine
(C) Bore hold Latrine (D) Non of above

351 MY W21 AN, Aonast W2 UL USRA Al Gual i 8 ?

(A) 918931 VLSl AN (B) Gt viLst awvu sy

-

(C) Wil sl ALY (D) 2Ad] eaida A8 WAl 2is us )



